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1. In a cricket match, a batsman hits a

boundary 10 times out of 50 balls he plays.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_x0bm1XI1MQS7

Find the probability that the does not hit a

boundary.

° Watch Video Solution

2. A coin is tossed 500 times with the
following frequencies: Head : 255, Tail: 245.

Compute the probability for each event.

° Watch Video Solution



https://dl.doubtnut.com/l/_x0bm1XI1MQS7
https://dl.doubtnut.com/l/_5qpQT3gEqESb

3. Two coins are tossed simultaneously 500
times, and we get:

Two heads: 115 times, One head: 165 times, No
head: 120 times, Find the probability of

occurrence of each of these events.

o Watch Video Solution

4. Three coins are tossed simultaneously 150
times and it is found that 3 heads appear 25

times, 2 heast appear 40 times, 1 head appears


https://dl.doubtnut.com/l/_wmwM6B5lANOP
https://dl.doubtnut.com/l/_iE6aWRrNpE0N

75 times and no head appears 10 times. If
three coins are tossed simultaneously at
random, find the probability of getting:

3 heads.

o Watch Video Solution

5. Three coins are tossed simultaneously 150
times and it is found that 3 heads appear 25
times, 2 heast appear 40 times, 1 head appears
75 times and no head appears 10 times. If

three coins are tossed simultaneously at


https://dl.doubtnut.com/l/_iE6aWRrNpE0N
https://dl.doubtnut.com/l/_8FZX4cIDCRqj

random, find the probability of getting:

2 heads.

° Watch Video Solution

6. Three coins are tossed simultaneously 150
times and it is found that 3 heads appear 25
times, 2 heast appear 40 times, 1 head appears
75 times and no head appears 10 times. If
three coins are tossed simultaneously at

random, find the probability of getting:

1 head

| e |


https://dl.doubtnut.com/l/_8FZX4cIDCRqj
https://dl.doubtnut.com/l/_8P02mFQCG64K

& Wwatch Video Solution I

7. Three coins are tossed simultaneously 150
times and it is found that 3 heads appear 25
times, 2 heast appear 40 times, 1 head appears
75 times and no head appears 10 times. If
three coins are tossed simultaneously at
random, find the probability of getting:

O head

° Watch Video Solution



https://dl.doubtnut.com/l/_8P02mFQCG64K
https://dl.doubtnut.com/l/_RRJEqcf2lPPJ

8. 1500 families with 2 children each, were
selected randomly and the following data

were recorede:

| Number of Girls in the family 0 | 1 | 2

| Number of families 1102 | 723 | 67
Numberof families 102 | 73 |65 | o of

these families, one family in selected at
random. What is the probability that the
selected family has:

no girl.

o Watch Video Solution



https://dl.doubtnut.com/l/_07lClxkkzB4N

9. 1500 families with 2 children each, were
selected randomly and the following data

were recorede:

| Number of Girls in the family 0 | 1 | 2

| Number of families 1102 | 723 | 67
Numberof families 102 | 75 |65 | o of

these families, one family in selected at
random. What is the probability that the
selected family has:

1girl

o Watch Video Solution



https://dl.doubtnut.com/l/_YRZwdqESG6sK

10. 1500 families with 2 children each, were
selected randomly and the following data

were recorede:

| Number of Girls in the family
v

0
| Number of families 102 |
i | e — Out of

these families, one family in selected at
random. What is the probability that the
selected family has:

3 girls?

o Watch Video Solution



https://dl.doubtnut.com/l/_lI5DwryPfjvt

11. Marks obtained by 2500 students are

shown in the following table:

| Class Interval | Frequency

I Lessthan40 | 610 ;

i 40-60 ' 840

, 6080 750

; 80-100 ' 300
Total Ju 2500

A
student is selected at random. Find the
probability that : he scores more than 80%

marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_NTAv8pnObdhH

12. Marks obtained by 2500 students are

shown in the following table:

| Class Interval | Frequency

I Lessthan40 | 610 ;

i 40-60 ' 840

, 6080 750

; 80-100 ' 300
Total Ju 2500

A
student is selected at random. Find the
probability that : he scores less than 60%

marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_dCOerjIWEV0k

13. Four coins are tossed simultanesouly 150
times with the following frequencies of

difference outcomes:

~ Outcome Frequency
4 heads 20
3 heads 25
2 heads 35
1 head 30
Ohead 2 Find the

probability of more than 2 heads

o Watch Video Solution



https://dl.doubtnut.com/l/_M1AoUBYmLyVI

14. Four coins are tossed simultanesouly 150
times with the following frequencies of

difference outcomes:

~ Outcome Frequency
4 heads 20
3 heads 25
2 heads 35
1 head 30
Ohead 2 Find the

probability of less than 2 heads.

o Watch Video Solution



https://dl.doubtnut.com/l/_yhmaBow6Qp7p

15. The record of a weather station shows that
out of the past 250 consecutive days, its
weather forecasts were correct 175 times. (i)
What is the probability that on a given day it
was correct? (ii) What is the probability that it

was not correct on a given day?

o Watch Video Solution

16. According to a meteorological report for

300 consecutive days in a year , its weather


https://dl.doubtnut.com/l/_2LqeyHG03nlE
https://dl.doubtnut.com/l/_mVL407ZHJ71J

forecasts were correct 180 times .

Out of these days , one day is chosen at
random .

What is the probability that the weather
forecast was

not correct on that day ?

° Watch Video Solution

17. In a cricket match, a batsman hits a

boundary 10 times out of 50 balls he plays.


https://dl.doubtnut.com/l/_mVL407ZHJ71J
https://dl.doubtnut.com/l/_fEPFOYYqyzBQ

Find the probability that the does not hit a

boundary.

° Watch Video Solution

18. A coin is tossed 1000 times with the
following frequencies: Head : 455, Tail : 545

Compute the probability for each event.

° Watch Video Solution



https://dl.doubtnut.com/l/_fEPFOYYqyzBQ
https://dl.doubtnut.com/l/_aBf5X2avNj26

19. Two coins are tossed 400 times, we get:
Two heads: 128 times, ON e head: 160 times,
No head : 112 times when two coins are tossed

at random, what is the probability of getting 2

heads.

o Watch Video Solution

20. Two coins are tossed 400 times, we get:
Two heads: 128 times, ON e head: 160 times,

No head : 112 times when two coins are tossed


https://dl.doubtnut.com/l/_xjhlrni3FgnC
https://dl.doubtnut.com/l/_9Xc1V4vC1eiq

at random, what is the probability of getting 2

heads.

° Watch Video Solution

21. Two coins are tossed 400 times, we get:
Two heads: 128 times, One head: 160 times, No
head : 112 times when two coins are tossed at
random, what is the probability of getting O

head?

° Watch Video Solution



https://dl.doubtnut.com/l/_9Xc1V4vC1eiq
https://dl.doubtnut.com/l/_E8Jb6RnmsTlw
https://dl.doubtnut.com/l/_86GiQUywUclU

22. A survey of 250 boys of a school was
conducted and it was found that 110 like
coffee and 140 do not like coeffee. Out these
boys, one boy is selected at random. What is
the probability that the selected boy:

likes coffee.

o Watch Video Solution

23. A survey of 250 boys of a school was
conducted and it was found that 110 like

coffee and 140 do not like coeffee. Out these


https://dl.doubtnut.com/l/_86GiQUywUclU
https://dl.doubtnut.com/l/_RuuT6mshksV3

boys, one boy is selected at random. What is
the probability that the selected boy:

does not like coffee?

o Watch Video Solution

24. The probability of guessing the correct

answer to a certain question is EJf the

probability of not guessing the correct answer

is g Find x

° Watch Video Solution



https://dl.doubtnut.com/l/_RuuT6mshksV3
https://dl.doubtnut.com/l/_7XJr9rdfXYch
https://dl.doubtnut.com/l/_tj9KBuj2Wpxh

25. An integer is chosen form 1to 100. Find the
probability that:

integer chosen is a prime number.

° Watch Video Solution

26. An integer is chosen form 1to 100. Find the
probability that:

integer chosen is composite.

° Watch Video Solution



https://dl.doubtnut.com/l/_tj9KBuj2Wpxh
https://dl.doubtnut.com/l/_xQM3tx7Kbnzo
https://dl.doubtnut.com/l/_67l0rmLU6KZM

27. An integer is chosen form 1 to 100. Find the
probability that:

a multiple of 11.

° Watch Video Solution

28. The following table gives life time of 400

neon lamps:

Life-time (in hours) Number of lamps

300-400 | 13
400-500 | 57 |
500-600 i 65 -
600-700 - 81
700-800 | s
800-900 i 60
900-1000 i 50

e . ... Abulbis


https://dl.doubtnut.com/l/_67l0rmLU6KZM
https://dl.doubtnut.com/l/_8IbFQXqIlzJ1

selected at random. Find the probability of
that the life time of the selected bulb is less

than 500 hours.

° Watch Video Solution

29. The following table gives life time of 400

neon lamps:

= ﬂig-ﬁmt (in hours) Number of Ilm;iu_

1300-400 | 13
400-500 | 57 |
500-600 i 65
600-700 f 81
700-800 | 74
800-900 : 60
a00-1000 | 50

e . -...Abulbis


https://dl.doubtnut.com/l/_8IbFQXqIlzJ1
https://dl.doubtnut.com/l/_rFBXV6YNVbIi

selected at random. Find the probability of
that the life time of the selected bulb is

between 400 to 900 hours.

° Watch Video Solution

30. The following table gives life time of 400

neon lamps:

[ife-time (in hours) Number of lamps

1300-400 | 13
400-500 | 57 |
500-600 | 65
600-700 | 81
700-800 4
800-900 | 60
900-1000 5 50

4w am . ...Abulbis


https://dl.doubtnut.com/l/_rFBXV6YNVbIi
https://dl.doubtnut.com/l/_Hn2sk6YNU4Rm

selected at random. Find the probability of
that the life time of the selected bulb is

atleast 800 hours.

o Watch Video Solution

31. Two coins tossed simultaneously 300 times
and its is found that two heads appeared 136
times, one head appeared 112 times and no
head appeared 52 times. If two coins are
tossed at random, what is the probability of

geeting 2 heads.

| e |


https://dl.doubtnut.com/l/_Hn2sk6YNU4Rm
https://dl.doubtnut.com/l/_VuOjmJgiyMuq

& watch Video Solution I

32. Two coins tossed simultaneously 300 times
and its is found that two heads appeared 136
times, one head appeared 112 times and no
head appeared 52 times. If two coins are
tossed at random, what is the probability of

geeting 1 head.

° Watch Video Solution



https://dl.doubtnut.com/l/_VuOjmJgiyMuq
https://dl.doubtnut.com/l/_YZEFXfhjqXLf

33. Two coins tossed simultaneously 300 times
and its is found that two heads appeared 136
times, one head appeared 112 times and no
head appeared 52 times. If two coins are
tossed at random, what is the probability of

geeting 0 head?

o Watch Video Solution

34. 12 packets of salt, each marked 2 kg,

actually contained the following weights (in


https://dl.doubtnut.com/l/_HaQTMuamliPl
https://dl.doubtnut.com/l/_GtDNK5RBggvt

kg) of salt 1.950, 2.020, 2.060, 1.980, 2.030,
1.970, 2.040, 1.990, 1.985, 2.025, 2.000, 1.980 Out
of these packets, one packet is chosen at
random. What is the probability that the
chosen packet contains more than 2 kg of

salt?

o Watch Video Solution

35. A man speaks truth 6 out of 9 times. What
is the probability that he would not narrate an

incident correctly.

| e |


https://dl.doubtnut.com/l/_GtDNK5RBggvt
https://dl.doubtnut.com/l/_IuNYr78x789I

& Wwatch Video Solution I

36. In an experiment, a coin is tossed 500
times, If the head turns up 270 times. Find the

experiment probability of getting a head.

° Watch Video Solution

37. In an experiment, a coin is tossed 500
times, If the head turns up 270 times. Find the

experiment probability of getting a tail.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_IuNYr78x789I
https://dl.doubtnut.com/l/_DKHpWyKHKn4P
https://dl.doubtnut.com/l/_Cy3WFBksoxkq

38. In a cricket match, a batswoman hits a
boundary 6 times out of 30 balls she plays.
Find the probability that she did not hit a

boundary.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cy3WFBksoxkq
https://dl.doubtnut.com/l/_gjSVGdsJG3MK

39. Refer the data:

Markas Mumber of
students
0-20 7
20-30 10
20-40 19
40-50 in
50-60 20
&0-70 |
70- abave s
Tatal . Find the

probability that a student obtained less than

20% in the mathematics test.

o Watch Video Solution



https://dl.doubtnut.com/l/_40ryeP1v2Jnh

40. Refer the data:

Marka MNumber of
students
0-20 7
20-30 10
30-40 (1]
40-50 0
50-60 0
&0-70 |
70- abave s
Total .. Find the

probability that a student obtained marks 60

or above.

o Watch Video Solution



https://dl.doubtnut.com/l/_Oer2a3ty2ttv

41. Activity : Ask all the students in your class
to write a 3-digit number. Choose any student
from the room at random. What is the
probability that the number written by
her/him is divisible by 3? Remember that a
number is divisible by 3, if the sum of its digits

is divisible by 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_xPbwFVyg6f1p

42. The blood groups of 30 students of Class
Vil are recorded as follows:
A,B,0,0,AB,0,A,0,B,A,0,B,A,0,0,

A,AB,0,AA,0,0,AB,B,A,0,B,AB,0. Use this table to
determine the probability that a student of
this class, selected at random, has blood

group AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_kJBGyzzeW9UN

43. Can the experiment probability of an event

be a negative number? If not, why?

° Watch Video Solution

44. Can the experimental probability of an

event be greater than 17 Jusitfy your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_JdPKWdprna3x
https://dl.doubtnut.com/l/_ERLf9iB67cs0

45. As the number of tosss of a coin increases,
the ratio of the number of heads to the total
number of tosses will be —. Is it correct? If

2

not, write the correct one.

o Watch Video Solution

46. Two dice are thrown simultaneously 500
times. Each time the sum of two numbers
appearing on their tops is noted and recorded

as given in the following table:


https://dl.doubtnut.com/l/_1R1ixRfWeJFc
https://dl.doubtnut.com/l/_PLm6TAxaXn3w

AT ARRAATYY LIS Ta MR

Sum Frequency
2 14
3 i 30
4 42
5 55 |
6 71 {
7 75 ,
8 70 !
9 53
10 46
' 11 | 28
12 ‘ 15
TE oo 32__ ___ .a |f the

dice are thrown once more, what is the

probability of getting a sum:

o Watch Video Solution



https://dl.doubtnut.com/l/_PLm6TAxaXn3w

47. Two dice are thrown simultaneously 500
ties. Each time the sum of two numbers
appearing on their tops is noted and recorded

as given in the following table:

LT LU |:u11r:| ng rapie;
IS Sum | _frjequenui}: 1
_ 14
30
42
55
72
75
70
53
46
28 |

12 . 15 |
Té aban 32__ . - T e If the

W =] o o W R

-
=0

dice are thrown once more, what is the


https://dl.doubtnut.com/l/_PXtgbe15lqQA

probability of getting a sum:

more than 10

° Watch Video Solution

48. Two dice are thrown simultaneously 500
ties. Each time the sum of two numbers
appearing on their tops is noted and recorded

as given in the following table:


https://dl.doubtnut.com/l/_PXtgbe15lqQA
https://dl.doubtnut.com/l/_RVZwzGjFgnBM

AT ARRAATYY LIS Ta MR
! 24

Sum Frequency “_|

2 14 |
3 E 30 |
4 42 !
5 55 i
6 72 '
7 75
8 70 |

I 9 53

| 10 46

. 11 | 28

= 12 1

ln.' o 25__ ___ .u ‘ 12 |f the

dice are thrown once more, what is the
probability of getting a sum:

less than or equal to 57

o Watch Video Solution



https://dl.doubtnut.com/l/_RVZwzGjFgnBM

49, Two dice are thrown simultaneously 500
ties. Each time the sum of two numbers
appearing on their tops is noted and recorded

as given in the following table:

LT LU |:u11r:| ng rapie;
IS Sum | _frjequenui}: 1
_ 14
30
42
55
72
75
70
53
46
28 |

12 . 15 |
Té aban 32__ . - T e If the

W =] o o W R

-
=0

dice are thrown once more, what is the


https://dl.doubtnut.com/l/_BIDBBVi59TyA

probability of getting a sum:

between 8 and 12?7

° Watch Video Solution

50. Over the apst 200 working days, the
number of defective parts produced by a

machine is given in the following table:

Namberof |0 |1 [2.]'8 | a |%¥I56 |0
gefectiveparts |8 |9 |10 11 |12 |13
efective part .15“

:_Elﬂ 32 122 |18 {12 (12|10 |10
|

i

[10]8 [6 |6 (22

A A WS- ) B F

Determine the probability that tommorow's


https://dl.doubtnut.com/l/_BIDBBVi59TyA
https://dl.doubtnut.com/l/_qRJG5eLnB91U

output will have

no defective part.

° Watch Video Solution

51. Over the apst 200 working days, the
number of defective parts produced by a

machine is given in the following table:

r"f;—u;b_e:.r_n? 0 |1 I!z 3 | & |56 1NN
defectiveparts | 8 |9 110 |11 |12 |13

-——I-j-i;;‘" 150 32 (22 |18 |12 (12 |10 |10
; (10]8 [6 [6 ]2 ]2

s s IR

Determine the probability that tommorow's


https://dl.doubtnut.com/l/_qRJG5eLnB91U
https://dl.doubtnut.com/l/_imETutEse3bo

output will have

at least one defective part.

° Watch Video Solution

52. Over the apst 200 working days, the
number of defective parts produced by a

machine is given in the following table:

Namberof |0 |1 [2.]'8 | a |%¥I56 |0
gefectiveparts |8 |9 |10 11 |12 |13
efective part .15“

:_Elﬂ 32 122 |18 {12 (12|10 |10
|

i

[10]8 [6 |6 (22

A A WS- ) B F

Determine the probability that tommorow's


https://dl.doubtnut.com/l/_imETutEse3bo
https://dl.doubtnut.com/l/_AaywUr3ricQ9

output will have

not more than 5 defective parts.

° Watch Video Solution

53. Over the apst 200 working days, the
number of defective parts produced by a

machine is given in the following table:

Namberof [0 |1 [2 |8 |4 |56 |77

gefectiveparts |8 |9 110 1112 |13
"Ea;_--_ - 150 32 |22 (18 |12 (12 |10 |10

Sl |
|
|

[10]8 [6 |6 22

I S P SR o]

Determine the probability that tommorow's


https://dl.doubtnut.com/l/_AaywUr3ricQ9
https://dl.doubtnut.com/l/_85EfUCmNRDnK

output will have

more than 13 defective parts.

° Watch Video Solution

1. Define a trial.

° Watch Video Solution

2. Define a event.


https://dl.doubtnut.com/l/_85EfUCmNRDnK
https://dl.doubtnut.com/l/_FnurMGORRq3h
https://dl.doubtnut.com/l/_vp4JOyZLnJoP

° Watch Video Solution

3. Define an elementary event.

° Watch Video Solution

4. Define the probability of an event.

° Watch Video Solution



https://dl.doubtnut.com/l/_vp4JOyZLnJoP
https://dl.doubtnut.com/l/_To3GUhPuSFHV
https://dl.doubtnut.com/l/_I3xCnXtvsXWb

5. When a die is thrown, what are the six

possible outcomes?

o Watch Video Solution

6. Describe two events that are sure to

happen.

o Watch Video Solution



https://dl.doubtnut.com/l/_DZW07bUbpy9g
https://dl.doubtnut.com/l/_gQe2C2Y0RgXy

7. Describe two events that are impossible to

happen.

o Watch Video Solution

8. A fair coins is tossed 60 times and it came
up with tails 27 times. Find the probability of

head.

o Watch Video Solution



https://dl.doubtnut.com/l/_47WJrqQpT8lz
https://dl.doubtnut.com/l/_D4yLcMgOHsGy

9. A die is thrown 100 times if the probability

2
of getting an even number is 5 How many

times an odd number is obtained?

o Watch Video Solution

10. A coin is tossed 50 times and the tail
appears 28 times. In a single throw of a coin,

what is the probability of getting a head?

o Watch Video Solution



https://dl.doubtnut.com/l/_mRwwUiUlewl3
https://dl.doubtnut.com/l/_Qn2R1Bq0J4jq
https://dl.doubtnut.com/l/_fkJV5frHdFUb

11. True/False:

Probability of a sure event is O.

o Watch Video Solution

12. True/False:

Probability of an impossible event is 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_fkJV5frHdFUb
https://dl.doubtnut.com/l/_X43BkV0xtuZl

13. True/False:

If Eis an event,then 0 < P(FE) <1

o Watch Video Solution

14. True/False:

If E is an event, the P(E) + P(notE) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZVgF2323S3KB
https://dl.doubtnut.com/l/_VZ4qdskRbJof

15. True|false: use the theoretical probability of
an event 'E' is 047, use the theoretical

probability of event 'not E' is 0.537

o Watch Video Solution

16. Can the experiment probability of an event

be a negative number? If not, why?

° Watch Video Solution



https://dl.doubtnut.com/l/_5LrtLoyQkPXs
https://dl.doubtnut.com/l/_4Ktz9zB5w6Iz

17. True/False:
The experimental probability of an event

cannot be greater than 1.

o Watch Video Solution

18. True/False:
Out of 35 students participating in a debate 10

are boys. The probability that the winner is a

e 5
Ir —
girl is —

° Watch Video Solution



https://dl.doubtnut.com/l/_kKQ94RogLkQs
https://dl.doubtnut.com/l/_5Acf7kvT9eIZ

19. True/False:
The probability of losing a game is 0.7. The

probability of winning the game is 0.3.

o Watch Video Solution

20. True/False:

In a one-day cricket match, a batsman hits the
boundary 6 times out of 30 balls the plays.
Then the probability that the does not hit the

3
boundary is 5


https://dl.doubtnut.com/l/_5Acf7kvT9eIZ
https://dl.doubtnut.com/l/_OPrvWKpgxx6c
https://dl.doubtnut.com/l/_dhXoGVARJdtV

° Watch Video Solution

21.Fill in the blanks:

o Watch Video Solution

22.Fill in the blanks:

P(E) lies between and

° Watch Video Solution



https://dl.doubtnut.com/l/_dhXoGVARJdtV
https://dl.doubtnut.com/l/_cAQWGJQJjMuF
https://dl.doubtnut.com/l/_1SPKHbReGVR2
https://dl.doubtnut.com/l/_mbjB4kMm4LOd

23. Fill in the blanks:

P(E) lies between and

o Watch Video Solution

24. Fill in the blanks:

Let E be an event, that P(not E) =

° Watch Video Solution



https://dl.doubtnut.com/l/_mbjB4kMm4LOd
https://dl.doubtnut.com/l/_KRNP5XtnQ9ec

25. Fill in the blanks:

Sample space, when two coins are tosses is

o Watch Video Solution

26. Fill in the blanks:

An event is of sample space.

o Watch Video Solution



https://dl.doubtnut.com/l/_GYsP4SLtKzda
https://dl.doubtnut.com/l/_cKOYl5rayl6T

27. Fill in the blanks:

Probability of events is 100%

o Watch Video Solution

28. Fill in the blanks:

Probability of two approaches namely

probability and probability.

o Watch Video Solution



https://dl.doubtnut.com/l/_1AvyBFh8v77L
https://dl.doubtnut.com/l/_UkxG4YwwFaW2

29. Fill in the blanks:
Experimental probability is based on

performing.

o Watch Video Solution

30. The probability of an impossible event is

Al

B. less than O

C.0


https://dl.doubtnut.com/l/_hNN6mcU19HI4
https://dl.doubtnut.com/l/_e2OGJ2cX87m4

D. greater than 1

Answer:

o Watch Video Solution

31. Which of the following cannot be the

probability of an event?

>

&=
ol w w|ot w|r

N


https://dl.doubtnut.com/l/_e2OGJ2cX87m4
https://dl.doubtnut.com/l/_CzWj7O4oJwie

D. 1

Answer:

o Watch Video Solution

32. Two coins are tossed simultaneously. The

probability of getting atmost one head is

1
A.Z
1
B.E
3
C.Z


https://dl.doubtnut.com/l/_CzWj7O4oJwie
https://dl.doubtnut.com/l/_SJoLyabKQs9L

| =

Answer:

° Watch Video Solution

33. A bag contains 5 red, 8 black and 7 white
balls. One ball is chosen at random. What is

the probability that the chosen ball is back?

ol W


https://dl.doubtnut.com/l/_SJoLyabKQs9L
https://dl.doubtnut.com/l/_u5TPZ4qXigLB
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Answer:

o Watch Video Solution

34. In 40 tosses of a coin, tail appears 32
times. If a coin is tossed at random, what is

the probability of getting a head?


https://dl.doubtnut.com/l/_u5TPZ4qXigLB
https://dl.doubtnut.com/l/_kvYcsMrZWhJS
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25

25

Answer:

o Watch Video Solution

35. Three unbiased coins are tossed. What is

the probability of getting at least 2 heads?

o Watch Video Solution



https://dl.doubtnut.com/l/_kvYcsMrZWhJS
https://dl.doubtnut.com/l/_4eJDADHIs1Zb

36. In a single throw of a die, what is the
probability of getting a number greater than

47

o Watch Video Solution

37. One card is drawn at random from pack of
52 cards. What is the probability that the card

drawn is a face card?

o Watch Video Solution



https://dl.doubtnut.com/l/_GddQVAO5hNTx
https://dl.doubtnut.com/l/_gRZmpUb41KSu
https://dl.doubtnut.com/l/_CU5VSRJnwdnG

38. Two unbiassed coins are tossed. Find the

probability of getting at most one head.

° Watch Video Solution

39. In a simultaneous throw of a pairof dice,
find the probability of getting a total more

than 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_CU5VSRJnwdnG
https://dl.doubtnut.com/l/_HzXP0lipveX9

40. A bag contains 4 white and 3 black balls.
Two balls are drawn at random. Find the

probability that they are of the same colour.

o Watch Video Solution

41. A man speaks truth 6 out of 9 times. What
is the probability that he would not narrate an

incident correctly.

o Watch Video Solution



https://dl.doubtnut.com/l/_1iMextne85hS
https://dl.doubtnut.com/l/_iQS1TFBpo5ml
https://dl.doubtnut.com/l/_Gwbvfz6qrK22

42. Two regular dice (on blue and other red)
are rolled. Find the nuber of possible

outcomes.

o Watch Video Solution

43. A bag contains'n' red heads, 'y' yellow
heads, 'z’ blue heads. A head is drawn at
random. Find the probability that it would be

non-red head.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gwbvfz6qrK22
https://dl.doubtnut.com/l/_2qJZL8yXttDq

44. In a raffle 200 tickets are sold. Reena buys
one ticket. What is the probability that she

won first prize?

o Watch Video Solution

45, Eleven bags of wheat flour, each marked 5
kg, actually contained the following weights of
flour (in kg): 4.97 5.05 5.08 5.03 5.00 5.06 5.08

498 5.04 5.07 5.00 Find the probability that


https://dl.doubtnut.com/l/_mN5RQwz5uOcG
https://dl.doubtnut.com/l/_BKJjjWFksHiB

any of these bags chosen at random contains

more than 5 kg of flour.

° Watch Video Solution



https://dl.doubtnut.com/l/_BKJjjWFksHiB

